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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

(a) Give one characteristic of capitalist
economy.
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( 2 )

Oi) Define production possibility curve.

I

(c) What is mixed economy?

(d) Draw a perfectly elastic demand curve.

(e) What is marginal cost?

sii9h> ^Picf 1% ?

ff) Total cost = Total fixed cost + .

(Fill in the blank)

(fl^ ^i)

(g) What is a budget line?

CTf 1%?

(h) What is derived demand?

'?
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( 3 )

(i) Define market,

isai figr I

0) What is substitution effect?

2. Answer the following questions : 2*5=10

(a) Write two c:haracteristics of a centrally
planned economy.

(b) State two assumptions of Marshallian
utility analysis.

I

(c) Give the meaning of consumer's surplus.

I

(d) State the law of supply.

CTI1H RRcSl Pwi I
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( 4 )

(e) What is internal economies of scale?

f?

3. Answer any four from the following

questions : 5x4=20

(a) Explain briefly the characteristics of
perfectly competitive market.

(b) Explain the determinants of elasticity of
demand.

W I

(c) What is fixed cost and variable cost? Give

example of each.

% ^
^sin^ef 1%T I

(d) Explain the properties of indifference

curve.
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( 5 )

(e) Distinguish between market price and

normal price.

(f) Discuss the economic importance of

opportunity cost.

4. Answer the following questions (any/our) :
10x4=40

^51® %IT %r (1^ "Fli^) :

(a) Explain the law of diminishing
marginal utility with the help of a

diagram.

^INJT W I

(b) Explain the long-run equilibrium of a
perfectly competitive market.

ijef ^RTTSU ̂ 51^

<Pii I
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( 6 )

(c) State and explain the law of demand with
the help of a diagram.

DiRti '%'n >^1^1 <p^i i

(d) Explain about economies of scale in
production.

I

(e) Discuss critically the law of variable
proportion.

(f) Discuss about Pigouvian welfare
economics.

^5iiT®r I

(g) What are the exceptions to the law of

demand? Why does the demand curve

slope downwards? 5+5=10
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( 7 )

(h) E^lain the shutdown position of a

business firm with the help of a diagram.

wim "m m wf ̂  to

^WIIT I

★ ★ ★
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